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Goals

ldentify and read

e 2 special verbs 723 and T3

— Both very common
— Both almost always in the Hiphil
— Both I-Nun
— The First is “doubly weak”
* |lI-Heh in the Hiphil
* The important identifying signs of a Yigtol in the
Hiphil
— You don’t see the Hiphil heh so you have to look at
something else, namely the vowels.

* A note about translating 53 53



What we already know
19°90 210 PY-5231 2IN2R Y521 XN Y53 DN

e Even if we don’t know the root of the first

verb, what does the combination of the
initial waw and the final on tell us?



What we already know
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e Even if we don’t know the root of the first

verb, what does the combination of the
initial waw and the final on tell us? wegatal

 What are the 2 signs of a Hiphil Qatal? Now
that we’ve identified the verb above as a
weqatal, it’s a little easier to see the 2 signs

of the Hiphil Qatal.



What we already know
19°90 210 PY-5231 2IN2R Y521 XN Y53 DN

e Even if we don’t know the root of the first

verb, what does the combination of the
initial waw and the final on tell us? wegatal

 What are the 2 signs of a Hiphil Qatal? Now
that we’ve identified the verb above as a
weqatal, it’s a little easier to see the 2 signs

of the Hiphil Qatal. . Initial heh

* Dot vowel (I/E vowel) after
the 2" root letter
(Rocine 27.2b)



What we already know
19°90 210 PY-5231 2IN2R Y521 XN Y53 DN

When you are trying to figure out a verb,
look for what is most obvious first. For
some verbs it will be the stem, others a
form, or part of the form, others the root,
etc. Identifying verbs is a process of
elimination and start with what jumps out
at you first. You’ll often get your answer
before you have run through ‘all the steps.




The verb 123

The verb 123 is “doubly weak”
* |-Nun
* |lI-Heh

What might we expect from these weak letters
in their respective root positions?

* (Note that a letter is not necessarily ‘weak’ in
all root letter positions.)



The verb 123

The verb 123 is “doubly weak”

* |[-Nun

— Nuns have a tendency to assimilate (i.e. show up as a

dagesh forte in the next letter) if they find themselves at
the end of a closed syllable.

— I-Nuns will find themselves in this situation when there is a
prefix of some sort (e.g. the prefix consonant, Hiphil heh,
Niphal nun, participle prefix mem, etc.)



Assimilating Nun

did, this is what it would look like. ° heh at the beginning.

Natan in the qal gatal 3ms To make the Hiphil qatal,
This doesn’t actually exist but if it —> ‘ ‘ <— we add the preformative
T T
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did, this is what it would look like. ° heh at the beginning.

The heh “steals” the nun
‘ I ’ ‘ I | to make ? close sy!lable
. because its vowel is short
T

(hireq).
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Assimilating Nun

Natan in the qal gatal 3ms To make the Hiphil qatal,
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did, this is what it would look like. ° heh at the beginning.

The heh “steals” the nun
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. because its vowel is short
T
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This leaves a situation where nun is at the END of a
close syllable and therefore there is no vowel ‘ ‘
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consonant,, i.e. it will become that consonant.

When there is no vowel between a nun and a
following consonant, it will assimilate to that —> ‘ ‘
T [ ] [ ]
[ ]




Assimilating Nun

Natan in the qal gatal 3ms To make the Hiphil qatal,
This doesn’t actually exist but if it —> ‘ ‘ <— we add the preformative
T T

did, this is what it would look like. ° heh at the beginning.

The heh “steals” the nun
‘ I ’ ‘ I | to make ? close sy!lable
. because its vowel is short
T

between it and the next consonant.

(hireq).
This leaves a situation where nun is at the END of a
close syllable and therefore there is no vowel ‘ ‘
T o °

consonant,, i.e. it will become that consonant.

When there is no vowel between a nun and a
following consonant, it will assimilate to that —> ‘ ‘
T [ ] [ ]
[ ]

All that’s left of the nun, now, is the dagesh forte. N
One could call this the “footprint” dagesh. ‘ ° ‘
T [ ]



The verb 123

The verb 123 is “doubly weak”

* |[-Nun
— Nuns have a tendency to assimilate (i.e. show up as a

dagesh forte in the next letter) if they find themselves at
the end of a closed syllable.

— I-Nuns will find themselves in this situation when there is a
prefix of some sort (e.g. the prefix consonant, Hiphil heh,
Niphal nun, participle prefix mem, etc.)

* [lI-Heh
— Heh in the third position has a tendency to drop.

— In lll-Heh verbs, when there is a consonantal affix (gatal) or
consonantal complement (yiqgtol), i.e. when there is a bit at the
end of the verb following the Heh, the Heh will ‘change’ to a
yod. In actual fact, the yod is the original root consonant that
show us up in the presence of an affix or complement.



Hiphil Qatal of 121

Hiphil 50p Hiphil w13 Hiphil 787 Hiphil 7123
3ms Sopn At ahahy nan
3fs arieIr ety AN *nnan
gplolply win YR il
n70p D3 R “ran
yarielry yavity TR yiioin
300 Alolply W3 Kaly ol
slgpioirly algl2hy DR sly=h
ipielely InWYan IR N
- Riplofply WA RN 31737




Hiphil Yigtol

The Hiphil Heh is lost in the yiqgtol

* You can’t have 2 prefixes (hiphil heh and prefix
consonant) and the hiphil heh loses out

So... we have to look at the vowel patterns to
detect a Hiphil Yigtol



Hiphil Yigtol

RULE: The signs of the yigtol and wayyiqtol of
the Hiphil stem are

* a patakh under the prefixed pronoun and

* a dot vowel (I/E vowel) after the second root
letter.




Hiphil Yigtol

RULE: The signs of the yigtol and wayyiqtol of
the Hiphil stem are

* a patakh under the prefixed pronoun and
* a dot vowel (I/E vowel) after the second root

letter. \

\

Note that we also see this in the Hiphil Qatal,
though it is a secondary sign and is not always
present (especially in the second and first
persons).




Hiphil Yigtol
1980 210 =521 NiNan =521 I¥an =52 onram

Example:
* Can you find the Hiphil yigtol in our lesson verse?

 Compare with the Hiphil gatal.
— What is the same? What is different?
— What are the signs of each? (They each have 2 signs.)



Hiphil Yigtol

l

Hiphil Yigtol

Hiphil Qatal

l

1980R 210 =521 NiNan =521 I¥an =52 onram

/A

|/E Patach
Vowel Prefix

Vowel

/]

|/E Hiphil
Vowel Heh




Hiphil Yigtol

l

Hiphil Yigtol

Hiphil Qatal

l

1580 210 P51 7NN =521 9van -5 oM

[ A

|/E Patach
Vowel Prefix

Vowel

These are the same.

These are different.

/1

|/E Hiphil
Vowel Heh




Hiphil Yigtol of 121

Strong I-Nun IlI-Heh 2]
Hiphil 5vp Hiphil 711 Hiphil 155 (Wayyiqtol) Hiphil 1123
op Ny T
Sopn /@ nan T
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s Sopx /K y NI NN
<
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3mp PAUIp / Q‘b/ 3 327
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n370p0 pais nram
2mp piloiplg 1030 *390)
n370p0 pais nram
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Hiphil Yigtol of 121

Strong I-Nun IlI-Heh 121
Hiphil 5vp Hiphil 711 Hiphil 155 (Wayyiqtol) Hiphil 1123
3ms 5"??3 Note: You ‘cannot’ double a /7[?1
. bvopm letter at the end of a vv.orgl, SO ?Tﬂﬂl
' we do NOT see the assimilated ——
2ms 90pR | |nun as a dagesh in these T
2 opn| LOMS. — *12m)
- by Howeve.r, if you f:\dd a 1K)
- pronominal suffix, the dagesh
3mp 170p! / will show up. 127
< ° ~yy <
o ~15%pn E.g. D;_.l And hg defeated I
— them” in Genesis 14:15.
2me 170p0 I *312m
n370pn Pl *nram
270p] 23 akk)




A note about translating 92 53

1580m 210 P-521 NiNan =521 9%aN Y52 onram

RULE: When 93 is followed by

e asingular noun or singular construct chain
translate it every.

e a plural noun or plural construct chains or
collective nouns (e.g. ov) translate it all.




